log AL Leuchtdichte-Diffenz- =
: renzschwelle Lg=630cd/nt

. X y

.
A 0,34 040 paten g P-A3-pc—Fi

AD 0,1s A&G
Mittel

1 v 045 047
0,15 0,19
0,58 0,32
0,25 0,44




log AL L htdichte-Diffenz- =

- r(—:?#zcsctﬂvseltlee - Lg‘63°f/”?
- X y

A 0,34 0,40
1Y 045 047
0,15 0,19
0,58 0,32

Daten & P-A3-pc-/t
AD 0,1s A&G
Mittel

0,25




log AL Leuchtdichte-Diffenz- 0
- renzschwelle '—g-6’3cd/n?

. X y

A 0,34 0,40
1 Y 045 0,47
0,15 0,19
0,58 0,32

Daten & P-A3-pc -Fit
AD 0,1s A&G
Mittel

0,25 0,44




log L/AL Leuchtdichte-Kontrast- _
. Empfindlichkeitssch fR630cd/n?

2T

1+ Daten & P-A3—pc-Fit
AD 0,1s A&G
L Mittel




log L/AL Leuchtdichte-Kontrast-._
- Ermpfindiichkeitsschwelid et

2T

S
1+ Daten & P—A3—pc—Fm

S
AD 0,1s A&G A 0,34 0,40

L Mittel Y 045 047
0,15 0,19
058 0,32
025 0,44




log L/AL Leuchtdichte-Kontrest- _
. Empfindiichkeitssc i3/

2T

17T Daten & P-A3-r —rit y

AD 0,1s A&C A 0,34 ¢,40

L Mittel Y 045 047
0,15 0,19
058 0,32
0,25 0,44

é x=logL




L/AL Leuchtdichte-Kontrast- -
Empfindichkelteschwellsg=630cdi?
0T X VY
A 0,34 0,40
| Y 045 047
0,15 0,19
0,58 0,32
0,25 0,44

Daten & P-A3-pcgFit
AD 0,1s A&G &
Mittel

301




L/AL Leuchtdichte-Kontrast- -
Empfindichkeiteschwelleg-83can?
0T X VY
A 0,34 0,40
| Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Daten & P-A3-pc-Fit
AD 0,1s A&G, >
Mittel

301




L/AL Leuchtdichte-Kontrast- -
Empfindichkelteschwelleg=6-3d/
0T X VY
A 0,34 0,40
| Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Daten & P-A3-pc-Fit
AD 0,1s A&G
Mittel

301




